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Fact Families (Addition & Subtraction) Name:
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 63+23=86 2) 215+ 581 =796 3 8+4=12
23+ 63 =86 581 + 215 =796 4+8=12 1
86-63=23 796 - 215 =581 12-8=4
2.
A.23+86=63 A. 796 - 215 = 215 A.12-4=4
B.64 +23=87 B. 796 + 581 = 1377 B.8+12=4 3.
C.86-23=63 C. 581 + 796 = 215 C.16-8=8
D.86-23=23 D. 796 - 581 = 215 D.12-4=8 4.
5.
4) 97+3=100 5) 791+81=872 6) 8+10=18
3+97 =100 81+ 791 =872 10+8=18 6.
100-97=3 872-791=81 18-8=10
7.
A.101-3=98 A.872-791=791 A.9+10=19
B. 100 + 3= 103 B.872-81=791 B.18+10=28 8.
C.100-3=3 C.791+872=81 C.18-10=8
D.100-3=97 D.81-872=791 D.28-8=20 .
10.
7) 75+14=89 8) 261+ 149 =410 9) 16+3=19
14+ 75 =89 149 + 261 = 410 3+16=19 1.
89-75=14 410 - 261 = 149 19-16=3
12.
A.89-75=75 A. 410- 261 = 261 A.19-3=16
B.89-14=14 B. 149 + 410 = 261 B.16+19=3
C.89-14=75 C. 410- 149 =261 C.17+3=20
D.75+89=14 D. 262 + 149 = 411 D.19+3=22
10) 1+7=8 11) 155 + 292 = 447 12) 6+9=15
7+1=8 292 + 155 = 447 9+6=15
8-1=7 447 - 155 = 292 15-6=9
A.7+8=1 A. 292 - 447 = 155 A.15-9=9
B.8-7=1 B. 739 - 155 = 584 B.16-9=7
C.2+7=9 C. 448 - 292 = 156 C.15-9=6
D.8+7=15 D. 447 - 292 = 155 D.15-6=6
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Fact Families (Addition & Subtraction) Name: Answer Key
Deter mine which letter best representsthe missing fact from the fact family. Answers
1) 63+23=86 2) 215+ 581 =796 3) 8+4=12
23 +63=286 581 + 215 = 796 4+8=12 R O
86 - 63 =23 796 - 215 =581 12-8=4
86 - 23 =63 796 - 581 = 215 12-4=8 2 D
A.23+86=63 A. 796 - 215 = 215 A.12-4=4
B.64+23=87 B. 796 + 581 = 1377 B.8+12=4 sz D
C.86-23=63 C. 581+ 796 = 215 C.16-8=8
D.86-23=23 D. 796 - 581 = 215 D.12-4=8 s _ D
5. B
4) 97+3=100 5) 791+ 81=872 6) 8+10=18
3+97 =100 81+ 791 =872 10+8=18 6. _C
100-97=3 872-791=81 18-8=10
100 - 3=97 872-81=791 18-10=8 7 C
A.101-3=98 A.872-791 =791 A.9+10=19
B. 100 + 3 =103 B.872-81=791 B.18 + 10=28 8. C
C.100-3=3 C.791+872=81 C.18-10=8
D.100-3=97 D.81-872=791 D.28-8=20 o. A
10. B
7) 75+14=89 8) 261+ 149=410 9) 16+3=19
14+ 75=89 149 + 261 = 410 3+16=19 u_ D
89-75=14 410 - 261 = 149 19-16=3
89-14=75 410 - 149 = 261 19-3=16 2_C
A.89-75=75 A.410- 261 =261 A.19-3=16
B.89-14=14 B. 149 + 410 = 261 B.16+19=3
C.89-14=75 C. 410 - 149 = 261 C.17+3=20
D.75+ 89 =14 D. 262 + 149 = 411 D.19+3=22
10) 1+7=8 11) 155 + 292 = 447 12) 6+9=15
7+1=8 292 + 155 = 447 9+6=15
8-1=7 447 - 155 = 292 15-6=9
8-7=1 447 - 292 = 155 15-9=6
A.7+8=1 A. 292 - 447 = 155 A.15-9=9
B.8-7=1 B. 739 - 155 = 584 B.16-9=7
C.2+7=9 C. 448 - 292 = 156 C.15-9=6
D.8+7=15 D. 447 - 292 = 155 D.15-6=6
1-10 {9283 |75(67|58|50|42(33|25|17
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0 = BT




